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QUESTION 1

Scenario: An administrator has set up a NetScaler in HA mode and now wants to bind the SSL certificate to one of the
SSL virtual servers. However, the administrator notices that the command failed on the secondary node while
succeeding on the primary node. Both nodes in HA are healthy, with successful configuration synchronization and
command propagation.

Which reason explains the command failure on the secondary node?

A. Command syntax is not correct.

B. Command not executed with root ID.

C. SSL command not available on secondary node.

D. SSL certificate is not present on secondary node.

Correct Answer: D

QUESTION 2

Scenario: An administrator would like to set an organization\\'s homepage search engine type to display differently
based on a user\\'s browser. If a user accesses the homepage from an Internet Explorer browser, then the Bing search
engine should be displayed. If a user accesses the homepage using a Google Chrome browser, then the Google search
engine should be displayed.

Which feature could an administrator use to meet the needs of the scenario?

A. Responder

B. Rate limiting

C. Priority Queuing

D. Content Filtering

Correct Answer: A

QUESTION 3

An administrator has enabled the load balancing and compression features on a NetScaler system and wants to create
a compression policy to compress JavaScript pages using the GZIP format.

Which two CLI commands must the administrator use to create and associate the policy correctly? (Choose two.)
A. rm cmp policy
B. set cmp policy

C. add cmp policy
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D. bind cmp global

Correct Answer: CD

QUESTION 4

Scenario: An administrator plans to set up a NetScaler in an HA configuration. The two nodes in the HA pair are located
on two separate networks.

Which setting must the administrator configure on each node to ensure that both nodes in the HA pair can synchronize
configuration and propagate commands?

A. Add static route for remote node network

B. Add route monitor for remote node network

C. Turn on Independent Router Configuration (IRC)

D. Turn on Independent Network Configuration (INC) mode

Correct Answer: D

QUESTION 5

When setting up a NetScaler system, an administrator can use the to set the nsroot password. (Choose
the correct option to complete the sentence.)

A. Setup Wizard

B. entity template

C. SSL VPN Wizard

D. passwd command

E. set nsroot user command

Correct Answer: A
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